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Calculate the sloP€ and y intercept of ﬂﬁstraight ling 8x*= 7y +6 = 0.
Show that the straight lines 2x + 3y - 8 = and 4x *+ 6y + 18 = 0 are parallel,
g f 3

|’ +CO0S 0

prove that V]i;’c’(; p = cosec 0 + cot 6.
The volume of a solid right circular cone i;11088 cm?, If its height is 24cm then find the radius

of the cone. ; ,
Write the sample SPace for tossing three coins using tree diagram

Find the range and coefficient of range of the following data : 25, 67, 4

Answer any 10 questions. Question No, 42 is com

| 3 ‘ pulsory.
Given A = {1,2,3}/ B =12,3,5}, C={3,4).and D = {1,3,5} check if
(A~C) X (BND) = (AXB) n (CXD)is true? '

8, 53, 18, 39, 44.
10X 5 =50

il PrEqs. W< -2
If the function f:R — R is defied'by f(x)-+ ¥ =2 -22X<3  \pan find the value of i) f(4)
oy, 110 ST I A

i) f(-2) iil) f(4) + 2f(1) ) %

Find the sum of all natural numbers between 300 and 600 which are divisible by 7-
Find the sum of the series (23 2 13) + (43 - 33) 5 (63- 53) F o to 8 terms.

Bl : ; ;
If 4 :(—l 2) show that A? - 5A + 7Iz‘=;0./'
If o and p are the FOOES of X2 + 7x,+ 10 = 0/find;the values of |
) (a-B). i) o2 SO a2 - 2 ¢ iV)iof S B
§tat.e and prove the Pythagoras theorem? : .
Find the value of k, if the area of a quadrilateral is 28 sq. units,'éhose vertices are taken in the

order (-4, -2), (-3, k') (3, -2) and (2,3): - i -
A(-3, 0) B(10, -2) and C(12,3) are the \(ertiC_e?S,of A ABC. Find the equation of the altitude

through A and B. L ‘
From the top of a lighthouse, the angle of depression of two ships on the opposite sides of it
are observed to be 30°and 60°. If the height of the lighthouse is h meters and the line joining
the ships passes through the foot of the !ig’hthOUs‘e;-shOW that the distance between the ships

4h

is Tm. .
3 4 4

A toy is in the shape of a cyl»inder,s‘urmounte‘d by a,hemisphere. The height of the toy is 25cm.

Find the total surface area of the toy if its common diameter is 12cm. Solution let r and h be

the radius and height of the cylinder respectively a : ;
nts in a slip test are given below. Find the standard deviation of

their marks. = X 4 i SN 10: aales
cting a house from door numbers.1 to 100 randomly, find the probability
ber or a perfect square number or

In an apartment, in sele
ber of the house to be an even num

of getting the door num
a‘perfect cube number. ' %
Find the values of a and b if the following polynomi/a*"s are perfect squares
ax* + bx3 + 361x2 + 220x + 100. o R A !
Answer all the questions. 232 MO=:16 -
Construct a APQR PQ = 8.¢cm, /R =60’ and the median RG from
length of the altitude from R to PQ. (OR) - it B
Draw a circle of radius 4.5cm. Take a point on
using the alternate segment theorem. .
Draw the graph of ¥ = X* - 5x - 6 and hence solve X’ -
Nishanth is the winner in @ Marathon race of 12km distance. H \

hr and reached the destination in 1 hour. He was : ieyan;h, hs 2t ang
Swetha with their respective speed of 6km / hr, 4 km / fir, 3 km / hrand Bl And, ey A
the distance in 2hrs, 3hrs, 4 hrs and 6 hours respectively. Draw the speed - time graph and use It
0 find the time taken to Kaushik with his speed of 2.4 km/hr. RM2 10 sanimib PA.G,E"‘:“ :

R to PQ is 5.8cm. Find the

the circle. Draw the tangent at the point

5x-14=0. (OR) = il
e ran at the uniform speed of 12 km/ |
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